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Directions to the following questions, Read the given information carefully into answer the
guestions that follows.

There is a family of six members.

Members are A, B, C, D, E, and F.

A and B are married couple, B being the female member.
B is the daughter-in-law of F.

D is the only son of C.

E is the sister of D.

F's husband is dead.

Cis A's brother.
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Q1. How is F related to A ?
a) Sister

b) Sister-in-law

c) Mother

d) Mother-in-law

Q2. How is E related to C ?
a) Mother

b) Aunt

c) Cousin

d) Daughter

Q3. WhoisCtoB?

a) Nephew
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b) Brother
c) Brother-in-law

d) Son-in-law

Q4. How many females are there in the family ?
a)4
b) 3
c)5
d) 2
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Q5. How many males are there in the family ?

a)b
b) 4
c)3
d) 2

Q6. How is F related to C ?
a) Sister

b) Mother

c) Aunt

d) Mother-in-law

Read the questions carefully and find the adequate answers correctly which is appropriate to
the question asked.
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Q7. D is K's brother. M is K's sister. T is R's father who is M's brother, F is K's
mother. At least how many sons do T and F have ?

a) 2
b) 3
Cc) 4
d) Data inadequate

e) None of these

Q8. C is the mother of A and B. If D is the husband of B, then whatis Cto D ?
a) Mother

b) Aunt

c) Mother-in-law

d) Sister

Q9. B is the father of Q. B has only two children. Q is the brother of R. R is the
daughter of P. A is the granddaughter of P and S is the father of A. How is S
related to Q ?

a) Son

b) Son-in-law

c) Brother

d) Brother-in-law

e) None of these

Q10. Q is the son of P. X is the daughter of Q. R is the aunt (bua) of X and L is the
son of R, then what is L's relation with P ?

a) Grandson
b) Granddaughter
c) Daughter

d) Nephew



Q11.

1. Ais the sister of B.
2. B is the brother of C,
3. Cis the son of D.

How is D related to A?
a) Mother

b) Uncle
c) Son

d) Daughter

Q12. Given that

1. Ais the mother of B
2. Cisthe son of A

3. D is the brother of E
4. E is the daughter of B

Who is the grandmother of D?
a)A

b) D
c)C
d) B
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Q13.

i. Ais B’s sister,
ii. Cis B’s mother,
ili. Dis C’s father,
iv. Eis D’s mother,

then how A is related to D?
a) Grandfather
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b) Grand daughter
c) Grandmother

d) Daughter

Q14.

e A is the brother of B.
e B is the brother of C.
e D is the father of A.

Based on these three statements, which of the following statements cannot be definitely true?
a) B is the brother of A.

b) C is the brother of A.
c) A is the brother of C.
d) B is the son of D.

e) A, B and C are D's children.

Q15.
1. Ais father of X;
2. Bis mother of .
3. The sisterof Xand Zis Y.

Which of the following statements is definitely not true?
a) B is the mother of Z.

b) B has one daughter.
c) Y is the son of AC
d) X is the sister of Z.

e) B is the wife of A.
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Answers to the above questions :

Q1. Answer: (c)
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F is the mother of A.

Q2. Answer: (d)

E is C's daughter.

Q3. Answer: (c)

C is B's brother-in-law.

5000+ VERBAL REASONING TOPIC WISE MCQ QUESTION BANK WITH SOLVED ANSWERS
& FREE PDF

ANALOGY BLOOD RELATIONS CODING & DECODING CLASSIFICATION

VENN DIAGRAMS CLOCKS CALENDAR PUZZLES TEST

DIRECTION & DISTANCE SENSE TEST ASSERTION & REASON

CAUSE AND EFFECT SEATING ARRANGEMENTS STATEMENT & CONCLUSION

SERIES COMPLETION STATEMENT & ARGUMENTS

STATEMENT & ASSUMPTIONS STATEMENT & COURSE OF ACTION

PASSAGE & CONCLUSION SEQUENTIAL TEST MATHEMATICAL OPERATIONS

WORD FORMATION ALLIGATION & MIXTURES

Q4. Answer: (b)

Females are B, E, and F.

Q5. Answer: (c)

Males are A, C, and D.
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Q6. Answer: (b)

F is C's mother.

Q7. Answer: (a)
Q8. Answer: (c)
Q9. Answer: (d)
Q10. Answer: (a)

Q11. Answer: (a)

e B is the brother of C.
e Cisthe son of D.
e Ais the sister of B and C

Thus, D is either father or mother of A, B and C.
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Q12. Answer: (a)
e E is the daughter of B and D is brother of E.

Therefore, D is son of B and A is mother of B. Thus, A is the grandmother of D



Q13. Answer: (b)
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Q14. Answer: (b)

A is the brother of B and B is the brother of C. So, C may be the brother or sister of A.

Q15. Answer: (c)

A is the father of X and Y is the sister of X So, Y is the daughter of A.
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